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1. Resource Ownership:
Most resources are owned by private individual in market economy. (1 mark)
Most resources are owned by the government in command economy. (1 mark)
Resource Allocation/Distribution:
Most resources are guided by price signal/market mechanism in market economy. (1 mark)
Most resources are allocated by the government in command economy. (1 mark)
2. Yes. (1 mark)
Quantity of labour on leave Labour Marginal product
(units) (units) (units)
5 3 /
4 4 600
3 5 500
2 6 400
1 7 300
(1 mark)
The marginal product eventually decrease (1 mark)
3. Training allows the low-skilled workers to learn new skills. (1 mark)
It provides the same chance for the low skilled workers to use their own abilities to earn
higher income, which helps to equalize opportunities. (1 mark)
It can reduce the income inequality. (1 mark)
4. (a) VYes. (1 mark)
It involves current production. (1 mark)
It represents the value of services provided by the Hong Kong Examinations and
Assessment Authority which are resident producing units of Hong Kong. (1 mark)
(b) Geographical mobility of labour in Hong Kong increases. (1 mark)
Under the scheme, it lowers the travelling cost between home and workplace (1 mark)
Workers are more willing to work in other places. (1 mark)
5. (a) Private Cost (Buskers): the cost of buying loudspeakers and microphone / time cost

(b)

involved in the street performance. (1 mark)
External Cost: produce big noises which disturbs the lives and cause hearing problem of
residents living nearby, while the buskers have not compensated for the action.(1 mark)
There may be divergence between private cost and social cost, which involve negative

externality. (1 mark)

Yes. (1 mark)
Free songs is non-rival in consumption. A person’ s consumption will not reduce the

quantity available to others.



Free songs is non-excludable in consumption. It is too costly to exclude others from
consuming that. (1 mark)

(a) The amount of reserves the banking system falls short of:
(900m x0.25)-200m = $25m (2 marks)

(b) (i)
Change in money supply: Change in cash held by public + Change in deposits (1 mark)
Change in cash held by the public: 100m -Om = $100m

Change in deposits : (200m x 1/0.25) - 1000m - = -$200m (1 mark)
Change in money supply: $100m + ( -$200m) =-5100m (1 mark)
(ii)

- There is no cash leakage. (1 mark)
- There is sufficient demand for bank loans. (1 mark)

[Mark the FIRST point only.]

(c) When the central bank decreases the minimum reserve ratio, money supply will
decrease.
QTM: g,+g, = gm+8,, Where g = growth rate, p = general price level and y = real output
m = money supply, v = velocity of circulation of money (1 mark)
The classical quantity theory of money assumed v and y are constant in the long run.
(1 mark)
A decrease in money supply will result in a drop in general price level by the same
percentage, in which the general price level decrease in the long run. (1 mark)

(a) Horizontal integration, because (1 mark)
Hong Kong Exchanges and Clearing and London Stock Exchange Group are in the
same production stage. (1 mark)
Possible motives:

- To enlarge market share and influence

- To reduce the number of competitors.

- To reduce duplication of facilities:

- To make use of its brand name of one product in other products

- To use resources more efficiently as two companies can share some of their resources

- To enjoy economies of scale (e.g. Lower average cost of advertising as the total cost
can be spread over a larger quantity of output.)

(Mark the FIRST TWO points only, 1 mark each)



(b)  Public limited company / listed company. (1 mark)

(i)
Alibaba Group has an independent legal status (1 mark)
The owners of Alibaba Group are not personally liable for all offence incurred by the
firm while sole proprietorship does not. (1 mark)

(i)
Alibaba Group enjoy limited liability (1 mark)
The liability of the owner is confined to the amount of his or her initial investment
while sole proprietorship is subjected to unlimited liability. (1 mark)

(a) The subsidy lowers the cost of production of the sellers in travel industry and thus
increases the supply of sellers. (2 marks)

The condition is the elasticity of demand is greater than the elasticity of supply. (1 mark)

(b)
Advantage:
- The cost of measuring the tour guides’ service is lower.
- The cost of monitoring the performance of tour guides is lower.
- Any reasonable answer
(Mark the FIRST point only, 1 mark)
Disadvantage:
- The cost of calculating wages of the tour guides is higher.
- Any reasonable answer
(Mark the FIRST point only, 1 mark)

(ai)

The nominal rate of return of holding cash = 0% (1 mark)
The expected cost of holding cash = 6% (1 mark)

(aii)
No. (1 mark)

According to Fisher equation: Nominal interest rate = real interest rate + expected
inflation rate. Since expected rate of inflation is still positive during disinflation, real
interest rate must be lower than nominal interest rate. (1 mark)
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(a)

The consumer price index measures a specific basket of consumer goods and services
while the GDP deflator measures all final goods and services included in the

calculation of GDP. (1 mark)
The inflation rates calculated from the two indicators are different because the two

indicators cover different goods and services. (1 mark)

The property owner gains (2 mark)
During unexpected deflation, because he receives more rental income in real terms
(actual real rental income is larger than expected real rental income). (1 mark)
The property owner receives more purchasing power in real terms. (1 mark)

- Medium of exchange: the real value of money decreases/ the general acceptability of
money is adversely affected (in times of a hyperinflation).

- Store of value: less purchasing power with the same amount of money

- Standard of deferred payment: the real value of money decreases/ creditors prefer
immediate cash to post-dated cheques.

(Mark the FIRST point only, 2 marks)

Carbon tax is levied on goods and service (i.e. energy). (1 mark)
All buyers pay the same amount of tax for consuming the same amount of carbon

(1 mark)
Higher-income earners pay a less proportion amount of tax than lower-income earner /
the tax rate decreases as the income increases. (1 mark)

Verbal elaboration:

- As carbon tax is paid by businesses and industries that produce carbon dioxide
through their operations, the cost of production of producers rises, supply falls.

(2 mark)
- If the carbon tax is imposed after the equilibrium is reached, (1 mark)
- at Q2, the marginal benefit (MB) is larger than the marginal cost (MC). Total social
surplus is not maximized, deadweight loss occured. It may cause inefficiency. (1 mark)

Indicate in the diagram:

- Supply falls. (1 mark)

- Price increase, quantity transacted decrease (1 mark)

- Area of deadweight loss (1 mark)
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(c) The high-income earners need to pay proportionally less tax than low-income earners.
(1 mark)
The income distribution will become more uneven. (1 mark)

(d) Certainty: the details of the tax collection and payment should be clearly defined and
made clear to the taxpayers.
Convenience: The method of collecting taxes should be convenient to both the
government and the taxpayers.
Economy: the administrative costs of tax collection should be as low as possible
(Mark the FIRST point only, 2 marks)

(a)

Difference between the total export value and total import value. (2 marks)

(bi)

- Better capital in Taiwan.

- Better education and training in Taiwan.

- Better working environment in Taiwan.

- Better management in Taiwan.

- Higher degree of technological advancement in Taiwan.
(Mark the FIRST TWO points only, 1 mark each)

(bii)
The opportunity cost of producing 1 unit of mango in Hong Kong is 2 units of clothing.

(1 mark)
The opportunity cost of producing 1 unit of mango in Taiwan is 1 unit of clothing. (1 mark)
Therefore, Taiwan has comparative advantage in producing mango as its opportunity
cost in producing mango is lower in Taiwan. (1 mark)
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(biii)

Original mutually beneficial range of terms of trade:

1 unit of clothing < 1 unit of mango < 2 units of clothing (1 mark)
If exporting economy (Taiwan) needs to pay 0.5 units of clothing,

new mutually beneficial range of terms of trade:

1.5 units of clothing < 1 unit of mango < 2 units of clothing (1 mark)

(c)

Verbal elaboration:

- Under the linked exchange rate system, Hong Kong dollars (HKD) also appreciates against
the New Taiwan dollar (TWD) (1 mark)

- The import price (in terms of HKD) of the goods is decrease, according to Law of demand,
the Hong Kong consumers' quantity demanded of imports decreases. The import volume
decreases. (1 mark)
- The change in total expenditure (TE) is uncertain, depending on Hong Kong consumers'
price elasticity of demand for imported goods. (1 mark)
- If the demand for import is elastic, the total expenditure decrease. (1 mark)

Indicate in the diagram:

- Price decrease, quantity transacted increase (1 mark)

- If demand is elastic (1 mark)

- The percentage drop in quantity is larger than the percentage rise in price. (1 mark)
Price ($)

: gain in total revenue

S
il Loss '
.~ .
2 D Loss : loss in total revenue
Quantity (Units)
Q — Q
(a)
Indicate in the diagram:
- Labour demand drop (1 mark)

- Larger unemployment (1 mark)
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(b)
- Loss in real output (1 mark)
- Social and political unrest (1 mark)
- Loss of human capital (1 mark)

(c)
Budget deficit means the actual tax revenue is greater than the actual government

expenditure. (2 marks)

(d)

Verbal elaboration:

- Hong Kong is facing deflationary gap, there is an excess supply in the factor market,

resulting a downward pressure for factor prices (i.e. wage) (1 mark)
- costs of production would decrease over time (1 mark)
- short run aggregate supply (SRAS) would rise over time, (1 mark)
- restoring output to Yf in the long run. (1 mark)

Indicate in the diagram:
- SRAS shifts to the right (1 mark)
- Output increases back to Yf (the long run equilibrium) (1 mark)
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(e) Marks award for effective communication (EC: max 2 marks)

Marks

Performance

2

Supports arguments with the source/data and appropriate economic theories.
Presents relevant material.

Presents well-organised and coherent answers without repetition of ideas.

Uses language that expresses ideas clearly and fluently with appropriate use of
words/terms/symbols.

Presents arguments with some support of the source/data and economic theories.
Present some irrelevant material.

Presents answers in a less organised way with some repetition.

Uses language that conveys a clear message with some inappropriate use of
words/terms/symbols

Presents arguments with no support of the source/data and economic theories.
Present material unrelated to the gist of the question.

Presents inconsistent arguments.

Express limited ideas with inappropriate use of words/terms/symbols

The maximum marks for content is 8 marks. Answers may include the following:

Unemployment rate:

- the effect of unemployment rate will increase. As unemployment benefit will provide

disincentive effects, which may discourage the unemployed to resume to work. Their working

incentives will be lower and more people are not willing to work. Thus, the employment situation

will be worsen.

Government financial burden:




- The financial burden of government will be heavier as the government public expenditure
increase. Unemployment benefit is one of the transfer payment to relieve the cost of
unemployment to unemployed. However, the government consumption expenditure (G) won’ t
be affected.

Effect on other variables:

- Aggregate output will rise. After the provision of unemployment assistance, unemployed have
more disposable income, purchasing power increase and buys more goods and service, then

private consumption expenditure (C) rise.

- Income distribution will become more even. As the unemployment assistance can raise the
disposable income of low-income group while the high income group is not probably enjoy. The

income gap between the rich and the poor will be narrowed.

13.

(a)

- No. (1 mark)
- All customers face the same pricing arrangement. (1 mark)
- There is no market segmentation. (1 mark)
(bi)

- The studio may be involved in tie-in sale. (1 mark)
- The behaviour is a vertical agreement. (1 mark)
(bii)

- FHK Studio has violated the first conduct rule. (1 mark)
- Because it is a case of an anti-competitive agreement (1 mark)

(ci)

Verbal elaboration:

- The monopolist has a constant marginal cost of production. He will produce at the output
level where marginal revenue equals marginal cost in order to maximize profit. (1 mark)

Indicate in the diagram:

- Correct position of marginal revenue (1 mark)
- Constant marginal cost (1 mark)
- Correct position of P,, and Qy, (1 mark)

(cii)

Verbal elaboration:

- At Qq, marginal benefits is greater than marginal cost and the total social surplus is not
maximized. (1 mark)

- Thus, there is a deadweight loss which cause economic inefficiency (1 mark)



Indicate in the diagram:

- Area of deadweight loss (1 mark)

P
I%)eadweight loss

¥ 3
Pn \
MC
MR D
> Q
Qm
(ciii)
-No (2 mark)
- as the lump sum subsidy lower the fixed cost of production, which does not vary as output
(1 mark)

change. It will not affect marginal cost.
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(a)

- The marginal (and average) costs of production for Good X and Good Y are constant (and

do not increase with the quantities of X or Y). (1 mark)
- Thus, the opportunity cost of X in terms of Y, which is the slope of PPF, is constant. (1 mark)

(bi)
- As we do not have any information about the amount of resources held by the two countries.
(2 mark)
- Therefore, we can not determine which country has an absolute advantage in producing good X.
(1 mark)

(bii)

- In Country A, the opportunity cost of producing 1 unit of good X is 0.75 (= 60/80) units of good Y
while in Country B, the opportunity cost of producing 1 unit of good X is 1.5 (= 90/60) units of
good Y. (1 mark)
As Country A has a lower opportunity cost in producing good X, Country A has a comparative

advantage in producing good X. (1 mark)
(ci)

- Total output of good X after specialisation and trade is 80 units (1 mark)
- Total output of good Y after specialisation and trade is 90 units (2 mark)

(cii)

Indicate in the diagram:

- Correct position of the consumption possibility frontier of Country A & Country B after trade

(CPF5 & CPFg) (1 mark)
Good Y (Units)

A
90
60

CPFA=CPFB
PPF
0 PP A > Good X (Units)
60 80

(di)
- The problem of pollution may worsen after opening up for trade. The life expectancy at birth

may be shortened. (1 mark)



- There may be more people leaving school earlier to join the trading industry. The mean year of
schooling may be shortened. (1 mark)

(dii)
-No. As a measure of the general living standard, per capita real GDP has its own limitations.

(1 mark)
- It cannot reflect the number of working hours. The longer working hours will overestimate the
general living standard.
- It cannot reflect the income distribution. More uneven income distribution will overestimate
the general living standard.
- It cannot reflect the effect of the composition of GDP. The larger proportion of producer goods
contributed to GDP will overestimate the general living standard.
- It does not consider undesirable effects of production which lower living standards.
(Mark the FIRST TWO point only,)
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